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Operating Systws
&, Max. Marks: 80

%

dnswer any FIVE full questions, _»,-- iiig ONE full question from

ig;g

each module.

Ny ~
. ' cé{plam the services provided by an 0  operal ng system. b (08 Marks)
g Riann Define an operating system. What is systems view point of an opéfating system? Explain the
| dual mode operation of an operagng _,_"g‘j‘fstem "o (08 Marks)
2 <% OR L O
§ 2 a What is a process? With state dfagram explain different states of a process. (05 Marks)
& b. Explain the two ﬁindamewmodels of inter proces%éammumcatlon (06 Marks)
%g c. Explain the concept %’&yﬁual machine with the%%}? of a neat diagram. (05 Marks)
E i af == Module-2 -
=7 3 a Explain different seheduling criteria that s t be kept in mind while choosing different
£% scheduling algo¥it} (05 Marks)
8% b. Con51der the‘ﬁﬁiowmg snapshot of a CP@W
S g ) 5
o A N Pro¢ess | Burst Time
&= .§ ,g ;ﬁ“
55 Draw Gantt chart showin mﬁe execution of tges;g?processes usmw scheduling scheme.
$E Also find average waiting time and average furnaround time of processes. (05 Marks)
‘-g E c. Explain three multzthlseadmg models. ;%f%w m%?@ (06 Marks)
55 Agw ~0OR €57
%‘ g 4 a Whatisa Cl'l% section problen&%%lam Peterson’s solu ufion to critical sectlon( &r;}):f;l)
é- g b. What are the ‘three classical pr,ebiems of synchromz%‘? Explain any one in detail.
g ;. e~ o e ) (08 Marks)
g2 & 3 ~%. ¥  Module-3 .-
Z = 5 a Conglder the following’ saap?ot of a system®_
S5 %swer the following ‘questions us|] banker s algorithm. Resource type ‘A’ has
2. & o~ “W instances, ‘B’ has%mstances and s 7 instances.
g o b Allocation | Max | Available
£ 3 A“B-C|A B C|/A B C
s & Po|® ;1 07 5 3[3 3 2
§& P2 0 0[3 2 2
= el (3 0 219 0 2
8 “"“%3 2 1 112 2 2
% =/Py|0 0 2|4 3 3
g i) What is the content of the matrix need?
f=h
£

ii)  Is the systemkis in safe state? Explain.
iiiy If a request’ from process P1 arrives for (1, 0, 2), can the request be granted
immediately? Explain. (08 Marks)
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b. What is Deadlock? Explain the four necessary conditions faﬁﬁ”eadlock to occur. (04 Marks)

For the following resource allocation graph, write the. e@te“spondmg wait-for graph. Also
explain the procedure of construction of graph. (Refer F@ﬁ 5(c)). (04 Marks)

What is pagmggExplam how logical addfress are converted to physical addresses.

N (08 Marks)
Explaup{hﬁ%st common techniques for structuring the page table. (08 Marks)
AW IRt A
) %“ Module-4 k w;?}

Consider the following page reference string:
701203 04 30 3 24
How many page faultsfw .occur in the followmg page replaceme&@lgonthms by assuming
3 frames? Frames are e%;ﬁy in the beginni &

i) FIFO i) LRU ii) Optimal. 'y % Ve (08 Marks)
What is page fml%Explam the ste%@i%“lved in handlmg%?page fault with an example

scenario. %’m r &%% 3 N (08 Marks)
g Fa - OR w%
Brleﬂy%lam typical file attmbufés and various iile :operatlons (08 Marks)
Explam contiguous alloca,tl nd linked allocatzon n of disk space. (08 Marks)
(08 Marks)
(08 Marks)
Explain t [ (08 Marks)
b. Explain how interprocess é_gnﬁhunication is handled in Linux. (08 Marks)
g %j% * % % k %k
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